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while NNYYY
while (°XiD) {
TR0 ; P22
}

.10227 °R1N DR NP2 D°I0NT .

JIRDIZN DW DAR PXOWR NYRAND ,07PNA RINT OX .
JIRDID7 AR 719°Wnn N2I2IN0MY NPODI AR L, NINN

DX NPT12Y while-7 WRAY DINM NPT PXOWR 90 a0 .
NINAR ,ND0 OXIVIR NYXIANMD 2PPNA R OR .2 ORINT
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while-b Nt

.MIDD W 9% 1IN TN ,0°1N AXT DR IR NN e
RIPIW N2 IR N0 A¥T W 1NN DX NAWRN N°INNT

curr_len = 0; max_len = 0; isdigit () m¥pnoT
371 7920w N0 o 1 a70mn

while ((c=getchar()) != EOF) N7 X7 .NAAR 0-1,779°0

do-while nxYY

do {
a7TP9 ; P122

while (°Xin); }

{ .<ctype . h> 77907 yapa
if (isdigit(c)) {
;::rii“f” NYEINM W PXILR) TR 5w DR YR NYER 1IN
(;urr_len > max_len) ? curr_len : max_len; -('-‘-”7:’-'-I aighl m’m Nbbj pn 533
} J1P27 ORIN P72 XN 0IN2
else
curr len = 0; NDHON TPXIVR NYXANMY do-2 NN P12 ,0°° NN ORINT DX
} JTINRD 72°Wnn NPIDINM NPODI AR ,NINR AR W
ORI © 6D - 0°91RAN - 2NN WY X 5 OYPA Y © 6 P9 - 279N - 2wnnn WY Xan
do-while-Y mMNnN41 do-while oy TP n3°Nd
X277 TP VW R
do { stdin-»n 2N DRP
} while (¢ != EOF);
2 ...0WOM
do {
i=3; Rupbhy printf ("Thank you for entering %c!'\n",c);
do { 31 } )
printf ("%$-2d!\n", 1i); 2 ' while ((c=getchar()) != EOF);
} while (—-1i); 11
' 213 70 w1 9vn do- no»wi while NTIPD 7Ip0N
print£f("go!\n"); go: |
1?1727 IR 00N } 9091020 00 OV W INR2
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for NNy

for (MMNR ; °Nin ; DIT°P)
a7IP0 ; P12

.£or-1 NTIPO2 DWIA YINNRT DR NYEIN N°IONA

TPXIWIR NYXAND ,0°°PNA RIT OX .AIP27 ORIN DR NPT NI
JTIARY 72°Wnn NI NPODI AR NONR AR DW NnR

DX NYEam for-n WXL NINN NOI0INT PRILK DI 9102
NY2IP NYI9IN57 ARXING 909,20 721 ORINT 1PN INRY .A1TP
JIRDIDA DR 205779 1N ,NO0II XN vrah ox
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(1) for-Y MmMNNMT

;130 221wk ASCII 7P 2% ™" n1PNIR 19°R oD an’in

for (c='a' ; c<='z' ; c++)

{

is_prime = 1;
for (i=2; i<=(int)sqgrt(c); i++) {
if (c%i == 0)

is_prime = O;

7R sqre () XpN0a
079 Pw W DR
72172 NN RO LW
.<math.h> 77907

}
if (is_prime) {

printf ("%c is prime\n", c);
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(2) for-9 MNNNT

D107 MW 712 A0 720K ©01,1-1 0 0219077 79 nNn Y'YRN2D 1770

0,1,1,2,3,5,8, 13, ... :X%777707,79m93 1710950 22K "W
long curr = 1, prev = 0, temp;

int n, i;

printf ("Enter n: ");
scanf ("%$d", é&n);

for (i=2; i<=n; i++) {
temp = curr;
curr curr + prev;
prev = temp;

}

printf ("Your number is: %1d\n", n ? curr:0);
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for YV 02991990 JY MY

for (MmnR ; °Xn ; O1TP)

a1pPo

S 5:1|773ﬂ @2 N7 0°0ATDT I TR 9D e
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D°I0RT97 12 02791 T T 01N W LNRT oY .o opon

.1°0N Y9912 222,000
PDIDIN IRDIY AT MDD Ltrue TIWO PW P oRIN e

9907 91709 7120 £or-2 000D T TR 92,7 NN .

(p>0D) , MWD av anTION T YV 07w
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(3) for-Y MNNNMT

S DPXWR n NPV ORI e

for ( ; n>0; n--)
{

printf ("Why do I get the feeling ");
printf ("that I've said this before?\n");

((while NRO% 2pw) 2P TP INNR. .

for ( ; (c=getchar()) != EOF ; ) {
putchar (c);
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SW I1¥ID 1907 22P91 T Twna 101 ,IwYn°
4 Q%@\% Nakil7mbi7zalaieaiob]
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J
e 122 PRAWN 7397 270D MVIDIN YW NPVURILIONT

%% HRAWH DA NIWIWA 2°0°27 19N

MW DW T MMRD R P00 MVIDIRT VNG T
WA N2 I M0 DWW R AW PR

ORI T © 6 P9 - N - 2wnRT VTR X1

2509 90998 0y for

.£or-7 WX 7NY 27 TP NDIDT WOHRN PO0D NIV *
N9 1907 DR NAWNAY £or NRY A0 IRAT AN ¢
159737 P27 AR A8 WRD — 07w 90n YW

DAY N2 7P £or-n7 WRIY 101377 17 1ANTAW 20 MW .
772,791 ¥IR32 X7 990 172 AR npah waTn
JIROIPD AWPY 92227 DA 0 Papnnn Tpnw

int num, positive_num, dig num;
printf ("Enter a number: "); scanf("%d", &num);

for ( dig num = 1, positive_num = abs (num) ;

positive_num > 9 ;
positive_num /= 10, dig_num++ )
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95y N0 NNINT

Ppositive_num 5w N11507 790N DX on dig_num P11 e
plallpk) ,>701°0 190N R positive num ON7 |7'|7277 X2
.719:7 7702 19w N1N907 DR 2°2M10 WK 7 X ORA

JIRDIV NP2 NWRA TP P IR 2°0n £or- WRY LT AT e

is_symmetric = 1;
for (i=0, j=dig_num-1 ; i<j; i++, j—-)
{
digl
dig2 = positive_num/ (int)pow(10,3j) % 10;

positive num/ (int)pow(10,i) % 10;

if (digl !'= dig2) is_symmetric = 0;
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for NNDY HYW N9PaAN PN

MW 3 IWHRN ,P°0D MYV 2V T2 ,for NRMY M0 »
for MKXRYH 2IN37 WHRY 72 °70 V) IRNP7 XY 720
(1P02% P2 AR 713 QY 1208 NNIRYn

7017 :£oxr-7 DRI? SR 1PV DR PAT7 W ,NRT AV e
770297 , AR WX AR DWW 77927 I3 DX 1077 X
XY P0IWIRT TP NN
YW RIT T 72000 19N PN
IR WRO2 7% MINanga
JININTANT DR 17277 070

590 172 7T PPYR AT MION e
YoM PR, m1anh awp
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break NMpon

N IRDY? ¥IX02 HW NO77 ApoDa YV 17m break nmpon e
.switch n7po

N2 0010 switch-7 IR ARPMY 0 non N 0TIPeT e

,scanf ("%d") PXPNOIT NYWD DX OPAN IR AANTT e
;07w T907Y NI NNAINMY N9 A% LIPIN DRMPY

num = 0;
while ( (c=getchar()) != EOF ) {

if ('isdigit(c)) {

break;

}

num = num*10 + (¢ - '0');
}

RPN T © 6 P9 - 001N - 2w YT XA 19

T 9V 199y 29959

—=loc4o—od N0 NI T W 197 P 2wn I .

0°72pPn ,0°72°K TN 712 0M2AMRY 7331 ,NIDIBIN X7 101
-9 NV 7207P IRXIN

ARXIN MNPWT IWRD MEY 7702 A0 1K 12N PRIWKR 902
.0M0M ADY NANK BRI 197Y2 T RIAW 70, TR 1P WYl

pi:O;i:l;Sign=1;

while (1) {
delta = 4 * (1.0/i);
pi += sign*delta;
if (delta < le-6)
break;
i += 2; sign *= -1;
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continue NNPON

,ARDI SW NPT PROWYIRT NPOOTY N continue TR0 ¢
(D°PNn PRINAW 7M7) ART PRIVRA IR WA ,RING NPT

TXIWIRT 199 YXANAY 7KW 21TPA N9WD ,for NRND HW apna

72 'DTPNA'Y 7 DR QXY NAXON D17RA N2WD) 22303 NYXany 1RA
WY AR OXIWORY MAY? 070 ,£or AR NITAN 197 NN

(FRPIDIT WRI2 TIAW 217°R0 DR NOWR YA

sum = 0; count = 0;
while (scanf ("%d", &num)==1) { nawn»na N°1o1N
if (num < 0) 079017 YXIMN DX
continue; :prz [aRhlnhRlgh]
sum += num; count++;
}

average = sum / count;
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1990 93N "M

for (i = 0; i<3; ++i) {
printf ("make a wish: ");
scanf ("%s", the_wish);
if (toohard(the_wish))
continue;
dowish (the_wish) ;

i = 0; while (i<3) {
printf ("make a wish: ");
scanf ("%s", the_wish);
if (toohard(the_wish))

continue;
dowish (the_wish) ;
i++;

}
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for (c='a' ; c<='z' ; c++)
{
is_prime = 1;
if (c%2 == 0) continue;
for (i=3; i <= (int)sqgrt(c); i+=2) {
if (c%i == 0) {
is_prime = 0;
break;

}
if (is_prime)
printf ("%c is prime\n", c);

}
.7292 non°1977 £orxr-n NRYIYH o nnw ,break-2 27 W o
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JTANTIN QWD 12 TV 9AR LN 0IWD 771%2 NI1ONY WOR X2 TR0 DX

Y931 ,0°00K DORIPI TIW 23 [N 727 NIVIAND or W YY)
,0DRN MW TV ARIW YAI2 .0°07W XI1IPY WAl continue-b
1 mn ey

for (i=0; i<n; ++i) {

9 5 b S
Bcant('aan snuml: 77102 172 W 2WN IR

,(1<n %) ORI 1IRY O

switeh(fum == ) "T" RO 72WNAY R0
case 0: break; : aN v
case 1: continue; 0" mWwnaw 1m0 XY OX
} ,switch-7 TN 2% ww
R nomnn break-i nNTPD
y . NTIPD 1KY ,7292 switch-b
result = (i < n);

.for- non»nn continue-n
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int array[10];

10 201 a7 7R .array WY YR DY 07080 1 AW
.int 019°Un 070 ,02R

.20711 019°0 XOR ,C-2 °0°02 D19V 2WNI NIK TN
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099917 NINNPIT

:5 77X2 ,double DR TYN

double grades|[5] ;

Y290 WRI2 DY13P0 227N TR DX YR D21pn
: #define NMYENRI

##define N 50
#define SEQUENCE_LEN 1000

int main()

{
double salaries|[N];
double sequence[SEQUENCE_LEN] ;
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TN $72N

N D732 7997 712y .70 0°1°2 w1 ,0°090I1Mn TV MK
N—1 17901 NINRM 0 17907 WX 12N

TINWNI IR TI2YYY,TI9NA 72K 937 N1 NwAL 1003
.27 937 RDRY

> grades Twn2 k OPTIR Y2 N2RD NWAY N v
.79na k+1-73 2R W 29 W .grades [k] own©

grades[0]
grades|[1]
int grades|[5] ; grades|[2]
grades[3]
grades[4]
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27

D99¥192 YNNIV MNINT
grades[0] = 95; i rah WO ek
grades[1l] = 45;
grades[2] = 62;
grades[3] = 80;
grades[4] = 76;

printf ("grade O:
printf ("grade 1:
printf ("grade 2:

sum = grades[0]
grades|[2]
grades|[4]

+ grades[1l] +
+ grades[3] +

211070 DX 0°97]

grades|[0]);
grades|[1]);
grades|[2]);

NN 01001
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Y20 T00M WM TR RIT PWRIT 00070

k op7rx oy 2RI X A [k] 210027,k op7RY A Ty May
.27 999 1INWwnd TPeNK 8T 120K LI1KRIW 993 . 7Ivna

,On1923 .k DPTIRT MY o1 NR°72 nvsans X2 C nowa :2wn
X7 ,(N=1-n 9172 1R ,°2°%W 7907) MNI0IA 37N OPTIR 1781 DX
JTE0T DRSAR R 1979R 210 212°027 777879003 DR 9 9ap)
NIATINAYR 1173 1w AR HY) C-2 N1RIn MIRAT MW, hwn’
(121077 N¥PA 12 79X oNa

grades[-1] = 100;
grades[1000] = 5;
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099919 NINDYYD

X9X ,¥12p 7901 WY 1197 PR [] 2OV 2N00 TN e
NP19IN7 NXP JaT2 .0RW 1901 1019°0W WA B3 a1 1N
12772 @ORNAA RNY WA NYXAND PO Y1 ,awInn 11 e

.0°27Yn QY SYa 7712y 2227 MWy MKXNMY T 9100 Mot .
TIRDI? MYXNARD TN KA1 ,5wn0 .
for (i=0; i<N; ++i)
{ printf ("What salary were you thinking of? ");

scanf ("%$1f", &salaries[i]);
salaries[i] /= 2;
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09991 NN

TNIDRPIOPAT NNOWAT NYXINNT NNDWNT W e

max_sal = salaries[0];

for (sum=0, i=0; i<N; ++i)
{
sum += salaries[i];
if (salaries[i] > max_sal)
max_sal = salaries[i];

}

average_sal = sum / N;
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1193902 B9V P9 IND

990 MopPD .
for (i=0; i<5; ++i)
grades[i] = (int) (grades[i] * 0.8);
W NOPD .
for (i=0; i<5; ++i)
grades[i] = (int) (sqrt (grades[i]) * 10);
W MUPD e
for (i=0; i<5; ++i)

if (grades[i] < 54) grades[i] = 54;
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09991 YINNN

OOV QOTRAW 1AT2 PANKRY IN°1 °27VA O3 ,20NR 2YINWn 192
SR R 12 (221 =) 1AWD 190 20000 WY 2nNIRKD WKW TV
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int grades[5] = { 95, 45, 62, 80, 76 };

7w 00275 TR ,0°37V 27907 19701 IR 7R°WIN O
:0°0DR2 X712 TIWNT N ,TIVAT NN DR QORI

int grades[5] = { 95, 45 };
:0°0DRY 7IYNT 92 DR NPANRA X7 77000
int grades[5] = { 0 };
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09991 HHINHNN

WA TR IR WA O3 1071, 20K NN DTWRnwn WK
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char cards[] = { '2','3','4','5"','6",
'7','8','9','X','J','Q','K','A' };

Pw I

char cards[13] = { '2','3','4','5','6"',
'7','8','9','){','J','Q','K','A' };
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2R, IR INTTO 1IN 1N JOMNA TWRT 1IN e
1077w DO0PTIRT 70 297 LT NN T2 PNNDT2 OOREAI TN

95 | 48 | 62 | 80 | 76

grades|]

7172°T77 MR TR ,0°N2 V2R XIT Ant YW 9T OR a7 .
0°N27 V2R .o°n2 20 X7 1910 grades 7vng TOXW
QYW DR QPINROW AV2INT L,PWRIT 29w DR 19700 221K
JIRDA 1Y w0
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int array2d[N] [M];

nn 9y .array2d ow2 STAn-17 TWN? NI AR 1T IR0
179 DOOPTIR CIW POXD WO LT TV WD N2RY Wb

array2d[i] []]

0 =
977 702,197 .77YN2 O°RNM 120K 10 { 0 <

N-1
M—1 737

14 1A

2

.Ant 01901 DM TR 93 7T 7PN TWRD ,07R NEM 291 Tvn
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Y1919 -91 TIVNIY NI

.0°11X GRAD_NUM 2777 71X 72950 ,0°7°17N STUD_NUM 111
grades[i] [Jj] WXD ,grades TIWn D2I0MNA D°11°%)
X DR WA X7 TP .A-1 RPN D J-0 1R R
:averages TIYn? MR 2N, 710N 90 DW RN

double grades|[STUD_NUM] [GRAD_NUM] ;
double averages[STUD_NUM] ;
int i, j;

for (i = 0; i < STUD_NUM; ++i) {
averages[i] = O;
for (j = 0; j < GRAD_NUM; ++3j) {
averages[i] += grades[i][]j];
}
averages[i] /= GRAD_NUM;
}
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:(#define-1 01727 M-1 N) X277 727-177 71922 1120

double matrix[N] [M];

,MITINY MAY MW N Oy DOTan-17 70000 151 790 9y 2w i
T2 TTM-1T TV AR DX UL

/ matrix[0] [O] matrix[0][1] matrix[0] [M-1]

\ matrix[N-1][0] | matrix[N-1][1] matrix[N-1] [M-1]
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199252 Y1010 -7 TIVNI PYONN

TN 2R DR JONR? W1 1971 ,R01D X7 2w T e
A9 2702, NN 712 N1 TN-1TA

-IAR-TMY 11°7 11712°72 270-17 TV 07K 0°10MIRN 12 7700 o
279,07 AR 112 117272 MWD AXMIWRT MW L1903

matrix[][]

X X X X X X

- N v
N N

matrix[0] [0..M-1] matrix[1][0..M-1]
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12 97077 999 ,12R 1WA 11X 0T DY AWy STAn-17 7V INnX
(AW -TTW MR2) 1O DY On

int matrix[2][3] = { 5, 3, 8, 1, 0, 3 };

79,71 °9% 092K NRYW DR PRRY O3 1001 MM avs

int matrix[2][3] = { {5, 3, 8} ,
{1, 0, 3} };

,TXOUNT 270 DR 1OXY 992 DIMNR DRI DND MWORT 2AA7 R
PTANA-TAT PN WYY D2
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Y1293 91 7Y DINHN

A7 AW 2021 1°a2

int matrix[][] = { 5, 3, 8, 1, 0, 3 };

5230 RY MPIINM ,20°7 22TAN QIR XA 2TA% T 7120002
HWnY LT 7P NIWOR 71277 13w NINONT MAWOR IOR? NYTD
..matrix[2][3] matrix[1l][6] matrix[6][1]

DR MY XY 190 X7 W77 ,M17°727 0% IR 7IN9% NIn oY
179 ,7%0707 DU AW TN

int matrix[][3] = { 5, 3, 8, 1, 0, 3 };
(2) MM 9901 PR 727 2WR? 9157 190mIP RN
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